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Directions (1-8): In each of the questions given below four words are given in bold. 
These words may or may not be in their correct position. Following each sentence 
four sequences are provided. Select the sequence of the words which will make the 
given sentence contextually meaningful.  
 
Q1. Taiwan is in a prime position to benefit (A) from the trade diversionary effects of the 
U.S.-China trade war proximity (B) because of its geographical links (C) to, and close trade 
partly (D)  with, mainland China.  
(a) BADC 
(b) ADBC 
(c) ABDC 
(d) ACBD 
(e) None of the above   
L1Difficulty 2 
QTags word rearrangement 
 
Q2. Around the globe, a tiny virus (A) has brought humanhavoc (B) wreaked economic 
challenge (C), and confronted governments with a devastation (D), unlike any seen in 
recent history.  
(a) ADBC 
(b) CBDA 
(c) CABD 
(d) DABC 
(e) None of the above   
L1Difficulty 2 
QTags word rearrangement  
 
Q3. Realizing a brighter (A) future will require navigate (B)leaders to effectively 
government (C)new challenges across multiple (D) fronts. 
(a) BADC 
(b) ADBC 
(c) ABDC 
(d) ACBD 
(e) None of the above   
L1Difficulty 2 
QTags word rearrangement  
 
Q4. Government’s new role is allowed (A)the level of economic activity monitoring 
(B)and closely calibrating (C)the status of the disease to identify future flare-ups (D). 
(a) ADBC 
(b) CBDA 
(c) CABD 
(d) DABC 
(e) None of the above   



L1Difficulty 2 
QTags word rearrangement 
 
Q5. The global complicated (A) in which businesses operate is more environment (B) 
than ever before and at the same time legal (C) are moving faster which requires a faster 
response from businessesteam (D). 
(a) BADC 
(b) ADBC 
(c) ABDC 
(d) ACBD 
(e) None of the above   
L1Difficulty 2 
QTags word rearrangement  
 
Q6. By plethora (A) up time once spent on manual (B) tasks, technology enables legal 
freeing(C)  to focus on the teams (D) of new demands and on higher value activities.  
(a) ADBC 
(b) CBDA 
(c) CABD 
(d) DABC 
(e) None of the above   
L1Difficulty 2 
QTags word rearrangement 
 
Q7.The truth (A)of the stress, grief and struggle for enormity (B)and power being playing 
(C) out in front of us daily is overwhelming (D).  
(a) BADC 
(b) ACBD 
(c) BACD 
(d) CADB 
(e) None of the above   
L1Difficulty 2 
QTags word rearrangement 
 
Q8. Middle management leader (A) may be more stressful (B) for women than men 
because these positions are often positions (C) by a need to prove yourself as a 
characterized (D).  
(a) ADBC 
(b) CBDA 
(c) CABD 
(d) DABC 
(e) None of the above   
L1Difficulty 2 
QTags word rearrangement 
 
 



Directions (9-15): In the following questions a paragraph is given with three blanks. 
The paragraph is then provided with four options which consist of the words that 
can fill the given blanks. Choose that option as your answer which can fill the given 
blanks in the exact order as given in the option. If none of the given options fills the 
given blanks then choose option (e), ‘None of these’ as your answer. 
 
Q9. A deadly disease caused ______________ in decision-making at the top and ______________to 
spread on social media—in a______________epidemic from September 2019 that provides 
hard lessons for today. 
(a) Disability, Dishonesty, Virtual 
(b) Disease, Spin, Replicated 
(c) Paralysis, Misinformation, Simulated  
(d) Benefitting, Distortion, Pretend 
(e) None of these  
L1Difficulty 3 
QTags filler  
 
Q10. Whereas organizations used to describe ______________change as “fixing the plane while 
it flies,” the COVID-19 pandemic has ______________the rules of ______________in modern times. 
(a) Elastic, Revised, Mayhem   
(b) Alert, Amended, Ailment   
(c) Stiff, Rewrote, Confusion   
(d) Agile, Rewritten, Upheaval  
(e) None of these  
L1Difficulty 3 
QTags filler 
 
 
Q11. Even if governments go “full ______________” and do away with all economic ______________, 
the economic recovery may still be ______________as long as the virus continues to pose a 
health threat.  
(a) Legalize, Constraints, Hushed 
(b) Throttle, Restrictions, Muted  
(c) Adjust, Sidelines, Gentle 
(d) Correct, Checks, Inaudible 

(e) None of these  
L1Difficulty 3 
QTags filler 
 
Q12. The 30-year-old cofounder and chief executive of Saral Designs, which 
______________machines that make ______________sanitary pads, decided to quickly re-tool one 
of her machines to make ______________face masks. 
(a) Manufacturers, Low-cost, Disposable 
(b) Constructors, Cheap, Throwaway 
(c) Creators, Inexpensive, Disposable 
(d) Makes, Economy, Refillable 



(e) None of these  
L1Difficulty 3 
QTags filler 
 
 
Q13. Many businesses are now ______________to their legal teams for self-service legal 
______________platforms which give the business direct ______________to advice on business-
related legal issues. 
(a) Rotary, Help, Contact 
(b) Revolving, Provision, Permission 
(c) Turning, Aid, Access  
(d) Whirling, Respite, Fee 
(e) None of these  
L1Difficulty 3 
QTags filler 
 
Q14. Many people are looking for ______________and a better understanding of how to 
______________against racism, injustice and societal ______________therefore anti-racism 
education and resources are greatly needed.  
(a) Answers, Fight, Inequities  
(b) Accounts, Scrap, Preferences 
(c) Returns, Tie, Wrongs 
(d) Feedbacks, Round, Discriminations 
(e) None of these  
L1Difficulty 3 
QTags filler 
 
Q15. Authorities in a ______________of states have launched ______________of specific nursing 
homes where outbreaks occurred but there is no federal investigation ______________. 
(a) Trickle, Surveys, Ongoing 
(b) Minority, Polls, Started 
(c) Filter, Inquiries, Proceeding 
(d) Handful, Investigations, Underway  
(e) None of these  
L1Difficulty 3 
QTags filler 
 

SOLUTIONS 
 
 
S1. Ans. (b) 
Sol. The correct sequence is ADBC. The sentence after word rearrangement is,  
Taiwan is in a prime position to benefit from the trade diversionary effects of the U.S.-
China trade war partly because of its geographical proximity to, and close trade links 
with, mainland China. 
Hence, option (b) is the right answer choice.  



 
S2. Ans. (a) 
Sol. The correct sequence is ADBC. The sentence after word rearrangement is, 
Around the globe, a tiny virus has brought human devastation, wreaked economic 
havoc, and confronted governments with a challenge unlike any seen in recent history.  
Hence, option (a) is the right answer choice.  
 
S3. Ans. (d) 
Sol. The correct sequence is ACBD. The sentence after word rearrangement is, 
Realizing a brighter future will require government leaders to effectively navigate new 
challenges across multiple fronts. 
Hence, option (d) is the right answer choice.  
 
S4. Ans. (c)  
Sol. The correct sequence is CABD. The sentence after word rearrangement is, 
Government’s new role is calibrating the level of economic activity allowed and closely 
monitoring the status of the disease to identify future flare-ups. 
Hence, option (c) is the right answer choice.  
 
S5. Ans. (a) 
Sol. The correct sequence is BADC. The sentence after word rearrangement is, 
The global environment in which businesses operate is more complicated than ever 
before and at the same time businesses are moving faster which requires a faster 
response from legalteam. 
Hence, option (a) is the right answer choice.  
 
S6. Ans. (b) 
Sol. The correct sequence is CBDA. The sentence after word rearrangement is, 
By freeing up time once spent on manual tasks, technology enables legal teams to focus 
on the plethora of new demands and on higher value activities.  
Hence, option (b) is the right answer choice.  
 
S7. Ans. (c)  
Sol. The correct sequence is BACD. The sentence after word rearrangement is, 
The enormity of the stress, grief and struggle for truth and power being playing out in 
front of us daily is overwhelming.   
Hence, option (c) is the right answer choice.  
 
S8. Ans. (b) 
Sol. The correct sequence is CBDA. The sentence after word rearrangement is, 
 
Middle management positions may be more stressful for women than men because 
these positions are often characterized by a need to prove yourself as a leader.  
Hence, option (b) is the right answer choice.  
 
S9. Ans. (c)  



Sol. “Paralysis, Misinformation, Simulated” can fill the given blanks in the exact order as 
given in the option. Hence, option (c) is the right answer choice.  
 
S10. Ans. (d) 
sol. “Agile, Rewritten, Upheaval” can fill the given blanks in the exact order as given in the 
option. Hence, option (d) is the right answer choice.  
 
S11. Ans. (b) 
Sol. “Throttle, Restrictions, Muted” can fill the given blanks in the exact order as given in 
the option. Hence, option (b) is the right answer choice.  
 
S12. Ans. (a) 
Sol. “Manufacturers, Low-cost, Disposable” can fill the given blanks in the exact order as 
given in the option. Hence, option (a) is the right answer choice.  
 
S13. Ans. (c)  
Sol. “Turning, Aid, Access” can fill the given blanks in the exact order as given in the 
option. Hence, option (c) is the right answer choice.  
 
S14. Ans. (a) 
Sol. “Answers, Fight, Inequities” can fill the given blanks in the exact order as given in the 
option. Hence, option (a) is the right answer choice.  
 
S15. Ans. (d) 
Sol. Handful, Investigations, Underway” can fill the given blanks in the exact order as 
given in the option. Hence, option (d) is the right answer choice. 
 
 


